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Vertical Division with aHelper Grid

Name:

Solve each problem.

1)

31(1240

4)

4514995

7)

7711915

2)

33(1023

5)

1215992

8)

2018100

3)

6)

9)

684828

18|7615

2011367

Answers
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1) 40 2) 31 3) 71 40
31[1240 33[1023 68[4828 "
0 0 0 2. 31
12 10 48
0 0 0 3 1
124 102 482 . 11
124 99 476
00 33 68 s 49914
0 33 68
0 0 0 6. 423r1
4) 111 5) 499r4 6) 423rl il
45/4995 12[5992 18[7615 s 405
0 0 0
49 59 76 0. 0817
45 48 /2
49 119 41
45 108 36
45 112 55
45 108 54
0 4 1
7) 24167 8) 405 9) 68r7
77)1915 20/8100 20(1367
0 0 0
19 81 13
0 80 0
191 10 136
154 0 120
375 100 167
308 100 160
67 0 7

[ M ath ] www.CommonCoreSheets.com

1-9 |89]|78]67[56]44[33[22[11] 0 |




JL_

Vertical Division with aHelper Grid Name:
Solve each problem. Answers
40 111 24 r67 68 r7 499 r4 71
405 31 423 rl
1) 2) 3)
311240 3311023 6814828
4) 5) 6)
45|4995 12|5992 187615
7) 8) 9)
7711915 2018100 2011367
M odified 1-9 [89|78[67[56|44][33[22[11] 0 |
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